DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

DIVISION WITH -10 10 10 1;?;1: Score: J
1) —2521.8 = (=3) = 106) 152.04 + 3 =
w) 5472+ 7 = ) —1.24 + (—4) =
93 462.7 =+ (—5) = 108) 8394 = 10 =
01 5424 =+ (—=8) = 100) 8142 +1 =
395 —109.99 = 7 = 10 —413.64 + (—6) =
396) 8449 =— 1 = 411 56.32 =8 =
1) 37898 + (=7) = 12) 872.3+1=
%) 33565 + (—5) = 1) —=937.7 =10 =
300) 1848.8 =~ 2 = ) —1183 + 1=
00 —696.2 + (—10) = ws) B77.5+ (—1) =

w0y —451.26 + (=9) =
102) 35631 +9 =
103) —2925 =1 =
w01 21520 + 8 =

105) 22580 = 10 =

Mathematics: Division - Level 6 - Horizontal - Set 3
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—289.17+3 =
20010 -5 =
6426.7 =7 =
—253.41 +3 =

240.5 = (—10) =
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